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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['FVOPH:r-o’, 'PHO:g-0’]]
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Trend plot forP3-9 0
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P3-9
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FRBIFE NS R IFEREC 2200. 0
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Warning: lcol ["WC1',  "WC2'] missing
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Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=5. 8

Warning: lcol ['PHB’,| 'PHC’'] missing
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2RI\ EPRERE150. 0 ml.
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#H[EKECE (1847.0 vs 4583.0) 15

REVE WS K iKEC 2200. 0
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optEC0=2829. 0, setECB=2200

Warning: lcol ['ECB’,| 'ECC’'] missing
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08:20 283 150. 0 2.888 E 1BRi&e08:20 Bah (RAERE)
09:10 283 150.0 2. 888 5| {Ri%@09:10 Bz (FRAERSE)
10:05 283 150.0 2. 888 =l RRi8@10:05 Bz (RFAEESE)
10:50 283 150.0 2. 888 =l RRiB010:50 Bzh (RAEEE)
11:25 283 150. 0 2. 888 =l Rige11:25 Bz (GRAEESE)
12:00 283 150.0 2. 888 =l {Rige12:00 B3 (RAERSE)
12:35 283 150.0 2. 888 S| {Rige12:35 B (REAERSE)
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BRI\ SEPRIERL147.0 ml.

FRBVEW S RFHRPH 5.6, HTHEAEHAZEEEEEPH, 5F A%
HEIRECE (1887. 0 vs 4847.0) 05

HERFE Y S RFHREC 2194.0
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